NEWTON’S LAWS QUICK REVIEW
Inertia is the resistance an object has to changes in its motion.  ____________ is the quantity we use to measure inertia, and the SI unit is  the ________________.

1. In each case provided below, which object has the greatest inertia?  
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(a)
[image: image8.png]Object | Mass (kg) | Speed (mis)
A 40 60
B 60 50
c 80 30
D 160 15
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(c)

(d) 

(1)  A 5-kg mass moving at 10 m/s 



(2)  A 10-kg mass moving at 1 m/s 



(3)  A 15-kg mass moving at 10 m/s 



(4)  A 20-kg mass moving at 1 m/s


Newton’s First Law of Motion is often stated as “An object at rest stays at rest and an object in motion stays in motion with the same speed and in the same direction unless acted upon by an __________________ force”.
2. In which cases are the forces acting on the object balanced? 
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Newton's Second Law of Motion can be formally stated as follows: “The acceleration of an object as produced by a net force is directly proportional to the magnitude of the net force, in the same direction as the net force, and inversely proportional to the mass of the object”.  OR, we can say it more simply as an equation:

Write the equation here:

3. What is the net force in each situation?  
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4. Two forces F1 and F2 act on the block shown.  What is the net force on the block?  If the mass of the block is 2.0 kg, what is its acceleration?
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5. Two forces act on the object, as shown.  What is the net force on the object?  If the object has a mass of 4.0 kg, what is the acceleration of the object?  
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Weight is the force of gravity (Fg) acting on an object. We can calculate the weight of an object on Earth by using the following equation, where g is the "________________ due to gravity" and is equal to __________.

Write the equation for the weight of an object here:

6. Use the equation to calculate the following:

	Object
	Gallon of Water
	Largest Largemouth Bass Caught
	Smartcar
	20-Pound Turkey

	Mass
	3.78 kg
	
	820 kg
	

	Weight
	
	99.6 N
	
	89.0 N


Show your work here:

Free-Body Diagrams:  
7. Match the following forces to their definition, and how they are drawn
	Force
	
	Description
	
	How To Draw

	_____Tension
	a
	A force resisting the relative motion of surfaces sliding across each other
	f
	Drawn perpendicular to the surfaces in contact with each other.

	_____Friction
	b
	A resistive force exerted when to prevent two surfaces from being pushed into each other.
	g
	Drawn straight down toward the center of the earth.

	_____Weight
	c
	A force that is exerted by strings, ropes, cables etc. when they are pulled tight.
	h
	Drawn away from the object, in a direction that is parallel to the strings, ropes, or cables.

	_____Normal Force
	e
	The gravitational pull Earth exerts on all objects within its gravitational field
	j
	Drawn opposite the direction of motion or impending motion, and parallel to the surfaces in contact with each other.


Practice Drawing:  Given the scenarios provided, draw the free-body diagrams for the objects in question:

8. A sled (m = 18 kg) is pulled by a force F, as shown.  A 15 N friction force also acts on the sled. 
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9. A block sits at rest on an inclined surface, as shown.
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10.   An elevator is pulled upward by cables:
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11.    An baseball free-falling:
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12.  An object falling, parachute deployed:

